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Determine the placement of the decimal in each product.

Use estimation to place each decimal.
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Placing Decimals with Multiplication

47=1768=

2456=58=

T8I =0=

296 =0135=

B915=75=

516 = 4333 =

5.5=8685=

5389 x66=

2%437=

1935 = 8=

Td=6=

0455=x0=

6.75=6=

4114=4=

243 = 3865=
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Unit 4, Station 8, Round 1,
Task 2
. 8.3096
,  14.2448
s 3447
+ 11.46889
5. 37.752
£ 78.496
7. 12.96
3 70.83
g 27.03960
1. 65.0795
1. 22.35828
12 47.7565
15 38.874
u 8.74
5. 15.480
5. 444
. 85.095
5 40.50
5 16.456
n 9.39024




